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1 ��� ��
�
� 	�
�,��
� �
� 	�
��
�	�
��	& Fourier #�"� ����� � ������� ��
�&
�
� ω' ���

	�
��%
�� �� rad/sec � � ��
�&
�
� f ��� 	�
��%
�� �� Hz� + 	�
��
�	�
��	&� Fourier #�"�

��� � ������
&� 	�
��
�	�
��	&� Fourier ��%��� 	����� �� ��
�	�
!�����
�� ��� ���&��(	��

������
���	 �������	 ��� 
�� ��������	& 
�� 	�
��
�	�
��	�� Fourier ��"�

2���	��!� %�� ����	��& ���
�	�' ��
� 
� ��(�)���� ���
�	� �����!��� �	����� ���

��������
�� �!��
��&� �!����� (vocal tract) &��� ��������
�� �
�
��� ��	�
�' 	��
���������
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�� �	����� ��� �����&
��� ������(	��� � ��!��� 4����������)�5 
����
����
��)� ��!���	��


!� ��� �� �����!�����	� ��
&	�
� �% ���' ��� �� �����(����	� 
�� 
��
&
�
� 
�� �	���
�'

� �� �����!�����	� ������(�	�
� ��& 
� ��	� �	�����' &�!� (� 	���
����	� �
� �
�
��&

	�(�	� ��� �����%��
�� �
� :� � �	���� +� �������	���� �
&
�� 	������ �� ���
��
(��� ��

��& 
�� ��������%� � ��)���� �
� ����� 
�� 
�&��� 	�
�,��	� �
� s� ������� 4	�
��
�	�
��	&�

Laplace) ��� �
� ���%
��� ������������� 
� s� ������� �
� z� ������� 4	�
��
�	�
��	&�

Z5� $%(���� �����&����� ��&� ���(�	�
�� 	�
��
�	�
��	�� Laplace �� 	�
��
�	�
��	& Z
����
���
�� ������ �
� ��&,��	� 
�� ���
����	 �������� ���
���' &��� 
� ��
��	���

����� �� �
�������	� %�� ���(�	�
& ������& ���
�� ��� %
�� ���	%�� ���	�
��� 
����
����

�
��� ��� ������������
�� 	� &���� ��
�&
�
�� �� Hz ' &�!� (� 	���
����	� �
� 	�(�	�


�� ;������� .�� �������� ��	�
�� ��� (� �����
(�� 
� ���&� �
� ��&	��� � �	����

��� 
������ �������������� ��� Shannon

1 ����	�
������ ��&� ��	�
�� ��"� ������� ��������� (aliasing) �
� ���	�� ���
� �����

��&
��� 
�� ���&
�
�� 
�� ���	&��!��� 
�� 	�
��
�	�
��	�� Fourier� �� 
�
���& ��&,��	�

��� ��%��� �� ��������	� ����� ��	 �� ��������� 
� �����
�
� 
�����
������	 fs = 1
T
'

&��� T ����� � �������� ����	�
������� ��� �������
�� �
� �
%�� �����!��� 
!� ����	�
!�

��& 
� ��	� ����
��� 
�&��� x(t)8

x[n] = x(nT ). 4���5

$� 	�(�	�
����� &���� 
� ��&,��	� ��
& ������
��)��
�� !� � ��8 2��%� ����� �� ���(����

��� ����)�
�� 
�� 
%���� �����
������ 
�� ��	�
�� x(t) ��& 
� ����	�
� 
�� x[n]< +�

���(���� ��
%� ���,�%���
�� ��& 
� �����	� (�)��	� ����	�
������� 
�� Shannon � 2%��

��& 
� ����
&	��� ����	�
� ����������' &
�� ��� ����� ,%�
��
� ������ 
�� ��
�&
�
��

����	�
�������' ����
�	%�!� �����%�
��
�� ��� ����	�
� ��������' &
�� 
� ��	� ��"� ���

����� 
��������
& ��� ��%��� �� �������� ��������������
�� 
� 	0 %�� ����(��� �
� �����


�� 
�&���� -1�� � 
���� 
!� &�!� ����	�
� ���������� ��� �������� 	�� �����%	��� ��

	��%
� �������� ��()� ������(	!� ���(	�
���� ��������� 2���	�
�= �� 	�� 
%
��� (�)����

� �������� ����	�
������� ��� ����� 
���
� ���� ��& 
� ,�	� ��&� ������(	�� ���(	�
����

��������' ��
� ����	,�����

�� �
�	� ��6 ���������� 	� &���� block ������		�
�� 
� ���������� 
�� ����	�
��������
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���������
����

�
� �
�	� ��6 ���������	� 
�� &�� 	�
�
���%�� ���������� �� ������& 4A/D converter)'

C/D

T

x[n] = xc(nT )

s(t)
$�
�
���� ��&


�%�� �����
��

�)� ���	)� ��

������(�� #�"�

x[n] = xc(nT )
xc(t) xc(t) xs(t)

�
�	� ��68 ���
�	� 	�
�
����� ��	�
�� ��"� �� ��	� #�"�

������ ��� (� 	�� ����
������� �� ��)
� ���� ��	��� 	%�� ��&� 
%
���� 	�
�
���%�' &�!�


� ����)	�
� ���
���� ����	�
�� (sample and hold) � � 
����
��&� ����
�
�� ��� ��������


� �,��
��� 
�� ����	�
��� "!��� ,��,� 
�� �����&
�
��' 
� ���
�	� 	�
�
����� ��	�
��

��"� �� #�"� (C/D) �������� ������������	& 	� 
�%�� �����
��)� ���	)� ��� 	�
�
����

��& 
�%�� �����
��)� ���	)� �� ������(�� ������
�� 
�&���� 2���	�
��� 
�� ���
�	�
��

����� � �������� ����	�
������� T �

�� 
�%�� �����
��)� ���	)� s(t) ��� � 	�
��
�	�
��	&� Fourier 
�� �����

s(t) =
+∞∑

n=−∞
δ(t− nT )

F←→ S(jω) =
2π

T

+∞∑
k=−∞

δ(ω − kωs), ωs =
2π

T
. 4��65

2�������������
�� 
� ��	� x(t) 	� 
� 
�%�� �����
��)� ���	)� �������	�

xs(t) = xc(t) s(t) = xc(t)
+∞∑

n=−∞
δ(t− nT ) =

+∞∑
n=−∞

xc(nT )δ(t− nT ). 4��95

.���	&���
�� 
�� ���&
�
� 
�� ���	&��!��� 
�� 	�
��
�	�
��	�� Fourier ������
��

Xs(jω) =
1

2π
[Xc ∗ S](jω) =

1

T

+∞∑
k=−∞

Xc(jω − jkωs). 4��>5

7� 
� ��
��& ��	� xc(t) �
�� ��
!���,�
& 	� ���	�' &�!� �
� �
�	� ��94�5' 	� ��)
���

��
�&
�
� ωN ' 
&
� � 	�
��
�	�
��	&� Fourier 
�� ��	�
�� 	�
� 
� ����	�
������' ���

�
������
�� �
� �
�	� ��94,5' ����� ��������� ��������� 
�� 	�
��
�	�
��	�� Fourier 
��

��
���� ��	�
�� 	� ������� ωs ���	��)	���� ��
� 
�� �������
� 1
T � 3�� �� ������
(��

��������� 	�
� � ��� ���������!� 
�� ��
���� ���	�
�� �����

ωN ≤ ωs − ωN ⇐⇒ ωs ≥ 2ωN . 4��?5



�� ��������	�
� �
���������
���� ?

−ωN ωN

1

ω

Xc(jω)

4�5

−ωs −ωN ωN ωs−ωNωN

1
T

ωωs+ωNωs

Xs(jω)

4,5

�
�	� ��98 $�
��
�	�
��	�� Fourier8 4�5 X(jω)' 4,5 Xs(jω)�

1 	���&
��� ���
���
� ��
�&
�
� ����	�
������� ωs = 2ωN �����
�� �����
�
� Nyquist �

-+
�� ��
��� � 4��?5 
� ��
��& ��	� xc(t) 	����� �� ����
�(��' ������ ��� ����
�� ���������

	�
� � 
!� ���	�
��)� �����
!�)��

3�� 
�� ����
��� 
�� ��	�
�� ��"� ��& 
� 
�%�� 
!� �����
��)� ���	)� xs(t) ����� ��


������
����	� 
� xs(t) �- %�� ������& ��
!���,�
& ���
�� Hr(jω) 	� ��
�&
�
� ��������

ωc' &�!� ���
��� 
� �
�	� ��>� 3�� �� ��
��
�(	����	� 
�� �������
� 1
T ��� ����� �������

�
� ���������� 
�� ����	�
������� ����� 
� ������& ��
!���,�
& ���
�� �� %
�� ��
� 	���������

���
���' ���
�� T �
� �)�� ���,���� �
� ����� 
�� ��
�&
�
��� .��(�	��	�

Xr(jω) = Hr(jω)Xs(jω) = Xc(jω) 4��@5

��� ��%��� �� ���% ��	� 
� ��
�&
�
� �������� %
�� )�
� �� ���������� 
�� ����&
�
��

ωN < ωc < ωs − ωN

ωs ≥ 2ωN . 4��:5

�� ������& ��
!���,�
& ���
�� ��� ����� ���������	�' ���
� %
�� ��&
�	� 	�
�,��� ��&


� �)�� ���,���� �
� �)�� ��������� �� ���������	� ��
!���,�
� ���
�� ����	,������



@ �� ��������	�
� �
���������
����

Hr(jω)

ωc

xs(t) xr(t)

−ωc ωc

T

ω

Hr(jω)

4�5 4,5

�
�	� ��>8 4�5 7���
��� ��	�
�� ��"� ��& 
� 
�%�� �����
��)� ���	)�� 4,5 7�&�����

��
�&
�
�� �������� ��
!���,�
�� ���
��� 	� ��
�&
�
� �������� ωc�

	�� �)�� 	�
�,���� 	�
� � 
!� ��� �������	��!� �!�)� ���
��
����
�� 	�� �	��� ,�(	����

	�
�,���� 7� ωs > 2ωN ' 
&
� %
��	� ����� �� �� ����% ��	� 	�� ��
�&
�
� �������� 	�

	��	������& ����� �)��� 	�
�,�����

7� 	���
����	� 
� ��&,��	� 
�� �����
������� 
�� ��	�
�� ��"� ��& 
� ����	�
�


�� �
� ����� 
�� 
�&���' &�!� �
�	�
��� ����������
�� �
� �
�	� ��?� �� (�)��	� 
��

Shannon �����
�� 
�� �����
������ ��&� ��������
�� (bandlimited) ��	�
�� ��& 
� �����

	�
� 
��� 2�����)�' �!������
� ��	�
� ����� 
� ��
!���,�
� ��� 
� �!�����,�
� ��	�
��

�
�� ������� 	�� (�!����	� %�� ��
!���,�
& ��	�' ������ %�� ���������
� �!�����,�
&

��	� 	����� �� ���
(�� �� ��
!���,�
& 4� ��	� ,������ �)���5 	� 	�� ���� ������	&��!���

.����� x[n] = xs(nT )' ��& 
�� 4��95 ������
��

x[n] �

$�
�
���� ��&

������(�� ��


�%�� �����
��)�

���	)�

T

�

�

xs(t)

A�����& ���
��

�����
�������

Hr(jω)
� xr(t)

$�
�
���%�� ��	�
�� #�"� �� ��"�

�
�	� ��?8 7����
������ ��&� �!������
�� ��	�
�� ��& 
� ����	�
� 
���



�� ��������	�
� �
���������
���� :

xs(t) =
+∞∑

n=−∞
x[n] δ(t− nT ) 4��B5

���

xr(t) = [xs ∗ hr](t) =

∫ +∞

−∞
xs(λ) hr(t− λ) dλ =

∫ +∞

−∞
[

+∞∑
n=−∞

x[n] δ(λ− nT )] hr(t− λ) dλ

=
+∞∑

n=−∞
x[n]

∫ +∞

−∞
hr(t− λ) δ(λ− nT ) dλ =

+∞∑
n=−∞

x[n] hr(t− nT ). 4���5

7��� 
� ������& ���
�� �����
������� 	���
�(��� �������	%�!� ��� ����� 
� ������& ���


!���,�
& ���
�� 	� ��
�&
�
� �������� ωc ��� 	%
�� T � 7� ���% ! !� ωs' 
� ��
�&
�
�

Nyquist ��� ωc = ωN = ωs
2 = π

T ' 
&
� � �����
��� ��&����� 
�� �������� ��
!���,�
��

���
��� �����

hr(t) =
1

2π

∫ π
T

−π
T

T ejωt dω =
T

2π

∫ π
T

−π
T

ejωt dω =
T

2π

∫ π
T

−π
T

cosωt dω

=
2T

2πt

∫ πt
T

0

cosψ dψ =
1
πt
T

sin(
πt

T
) =

sin(πtT )

πt
T

. 4���C5

7�
���(��
)�
�� 
�� 4���C5 �
�� 4���5 ������
��

xr(t) =
+∞∑

n=−∞
x[n]

sin π( t−nT
T

)

π( t−nT
T

)
4����5

��� �������)��� 
� (�)��	� 
�� Shannon� 2���
����	� &
� � �
%�� �����
������� ��&� �!�

������
�� ��	�
�� ��& 
� ����	�
� 
�� ��� ����� ���� 	�� �
%�� ����� ���	 (interpolation)�

1 �����
��� hr(t) 4��� ����� 	�� �����
��� sinc()5 ��
�� ��������
�� ������	 (kernel)

Dirichlet ��� �
������
�� �
� �
�	� ��@� 2���
����	� &
� hr(0) = 1' ��) hr(nT ) = 0 ���

n = ±1,±2, . . . -7�� xr(mT ) = xc(mT )�

7� 
� ��	� xc(t) ��� ����� �!������
&' 	����� �� ����� 
%
��� �� ���
�����
�� 	0 %��

��
!���,�
& ���
��' ��� (� ���
������ 
� ��
��
��& �����
&	��� !� 
� ��
�&
�
� ωN �

��� ������� ����������� ���� ! �"� ���������������

Fourier

�� ����	�
� xc(nT ) ������
��� 	�� ������(�� x[n]' ��&
� �����
�� � 	�
��
�	�
��	&� Fourier#�"�

��
�� 
�� ������(���

X(Ω) =
+∞∑

n=−∞
x[n] e−jΩn, x[n] = xc(nT ). 4���65
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(t

)

�@ �> �6 C 6 > @
�C�>

�C�6

C

C�6

C�>

C�@

C�B

�

�
�	� ��@8 �����
��� hr(t)�

-.
��	� ������

Xs(jω) = F{xs(t)} =

∫ +∞

−∞
xs(t) e

−jωt dt

=

∫ +∞

−∞

[
+∞∑

n=−∞
xc(nT )δ(t− nT )

]
e−jωt dt

=
+∞∑

n=−∞
xc(nT )

∫ +∞

−∞
δ(t− nT ) e−jωt dt

=
+∞∑

n=−∞
xc(nT ) e−jω(nT ) =

+∞∑
n=−∞

xc(nT ) e−j(ω T ) n. 4���95

7�& 
�� 4���65 ��� 4���95 �����!�����	� &
�

Xs(jω) = X(Ω)|Ω=ωT = X(ejωT ) 4���>5

� �������	�

X(ejωT ) =
1

T

+∞∑
k=−∞

Xc(jω − jk ωs) 4���?5

X(ejΩ) =
1

T

+∞∑
k=−∞

Xc(j
Ω

T
− j 2πk

T
). 4���@5

7� ���������	� 
� ���
��%�	�
� 
�� ��������8

�� + 	�
��
�	�
��	&� Fourier #�"� ����� ���)� 	�� ���	��!	%�� !� ���� 
� ��
�&
��


� ��������� 
�� 	�
��
�	�
��	�� Fourier ��"� 1 �
%�� ���	��!��� 4������' %���

	�
��
�	�
��	&� ��� ��
�
�� 	�
�,��
��5 �����

Ω = ωT. 4���:5



�� ��������	�
� �
���������
���� �

6� 1 4���:5 	����� �� (�!��(�� !� �����&���� 
��

ω : [0, ωs) −→ Ω [0, 2π) 4���B5

9� 7�& 
�� 4���?5 �� ���% ��	� ����
�	� 	��� ����&��� [−ωs
2 ,

ωs
2 )' 
&
�

Xc(jω) = T X(ejωT ) , |ω| ≤ π

T
4����5

&��� T ����� � �������� ����	�
��������

7� ���(%���	� �����%�� &
� � ������(�� x[n] = xc(nT ) ����� ���������
�' ������ %
��

�������	%�� ���(�� ����	�
!� ��� ����
���
���
�� ��& 
� n = 0, 1, . . . , N − 1� �&
�

Xc(jω) = T

N−1∑
n=0

x(nT )e−jωTn. 4��6C5

D��,�����	� �� �	��&	���� ����	�
������ !� ���� ω 
� ����
�	� [0, ωs) �������
�� N �����

	�
� ��
���(��
)�
�� &��� ω 
� ωk = kΔωs = k (2πΔfs) = k 2π
fs

N ' 	� fs = 1
T � �&
�

Xc(jωk) = T
N−1∑
n=0

x(nT )e−j(kΔωs)Tn

= T

N−1∑
n=0

x(nT )e−jk2π fs
N

nT

= T
N−1∑
n=0

x(nT )e−jk( 2π
N

)n

︸ ︷︷ ︸
N×DFT{x[n]}k

= N T X[k] 4��6�5

&��� N T ����� � �������� 
������ �������� 
�� ��	�
��� +� �
%���� 4����5 ��� 4��6�5 (�	��

��)���� 
�� �������	�� 	�
� � 
�� 	�
��
�	�
��	�� Fourier ��"� ��� 
�� 	�
��
�	�
��	��

Fourier #�"� � ������
�� 	�
��
�	�
��	�� Fourier ��
��
��
!�� .��	%�!� �����������
�� �

��
��� ���� ���� 	�(&��� 4	�
��
�	�
��	&� Fourier) S.Q. ��� ������(	!� 4	�
��
�	�
��	&�

Fourier #�"� ��� ������
&� 	�
��
�	�
��	&� Fourier).

!���
����� "#$# 7� ����	&���	� 
�� ������� 
�� ��&
�
�� ��9 �
�� �����
!�� 
�� ����

��
������� ��&� �!������
�� ��	�
�� ��& 
� ����	�
� 
��� �
� ���	� %
��	�8

Xr(jω) = Hr(jω)Xs(jω) = Hr(jω) [
+∞∑

n=−∞
x[n] e−jωTn] = Hr(jω)X(ejωT ) = T Xs(jω)

= T
1

T
Xc(jω) 4��665
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&��� X(ejωT ) ����� � 	�
��
�	�
��	&� Fourier #�"� 
�� ������(��� x[n] ��� �������	�� 	�

Xs(jω) ��	�!�� 	� 
�� 4���>5 ��� � �
%�� 	�
� � Xs(jω) ��� Xc(jω) ����
�� ��& 
�� 4��>5�

��# $
� ������� %�&� �"� ���'�"� ��&�

�� ������		� 
�� �
�	�
�� ��: ���
��� �����
�
��� 
�� ��� ������� ��	�
!� ��"� 	� 
����

��&� ���
�	�
�� #�"� 4��
� ��������
�� ������� ������5� �
� ���
�	� 
�� �
�	�
�� ��:

C/D

T

���
�	�

#�"�
D/C

T

yr(t)
xc(t) x[n] y[n]

�
�	� ��:8 .�� ������� ��	�
!� ��"� 	� 
���� ���
�	�
�� #�"�

��!�����	� 
� 	�(�	�
��� ��������� 
!� ��	�
!� �
� ����� 
�� 
�&��� ��� 
�� ��
�&
�
��

�
�� ������ 4	�
�
���� ��	�
�� ��"� �� ��	� #�"�5

x[n]
F←→ X(ejΩ) =

1

T

+∞∑
k=−∞

Xc(j
Ω

T
− j 2πk

T
) 4��695

��� 
�� % ��� 4�����
������ ��	�
�� ��& 
� ����	�
� 
��5

yr(t) =
+∞∑

n=−∞
y[n]

sin[π(t− nTT )]

π(t− nTT )

F←→

Yr(jω) = Hr(jω)Y (ejωT ) =

⎧⎨
⎩ T Y (ejωT ) �� |ω| < π

T

0 �����
4��6>5

&��� Yr(jω)
F−1←→ yr(t) 4��
��
����� 	�
��
�	�
��	&� Fourier ��"�5 ��� Y (ejωT )

F−1←→ y[n]

4��
��
����� 	�
��
�	�
��	&� Fourier #�"�5�

7� ������(����	� �� ���
�
����	� 
� y[n] ��� x[n]� .����� 
� xc(t) ����� �!������
&'

��
0 ����
��� 
�� (�!��	�
�� ����	�
�������' %
��	�

Xc(jω) = 0 ��� |ω| > π
T � 4��6?5

3�� %�� 3�"�7� ���
�	� #�"� ��
���

Y (ejΩ) = H(ejΩ)X(ejΩ) 4��6@5
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���

Yr(jω) = Hr(jω)H(ejωT )X(ejωT )︸ ︷︷ ︸
Y (ejωT )

= Hr(jω)H(ejωT )
1

T

+∞∑
k=−∞

Xc(jω − j 2πk
T

)

=

⎧⎨
⎩ H(ejωT )Xc(jω) �� |ω| < π

T

0 �� |ω| > π
T

4��6:5

������

Yr(jω) = Heff(jω)Xc(jω) 4��6B5

&��� Heff(jω) 
� �������	� ���
�	� ��"� ��� �����
�� !�

Heff(jω) =

⎧⎨
⎩ H(ejωT ) �� |ω| < π

T

0 �� |ω| > π
T �

4��6�5

1 4��6�5 ����������� 	�� 	%(��� ��� 
� 	�
�
���� 	��� ���������� �
������� �� �������' 
�

	%(��� 
�� ���
� ��
�	 �����
���	 ��������	 (impulse-invariance)�

!���
����� "#%# 3�� �� �
�������	� %�� ������& �!������
& ��������
�  ������	� ��& 
��

���&
�
� 
�� ����&����� 
�� 	�
��
�	�
��	�� Fourier. -.��� ��������
�� ����� ���
�	� ��"�

	� �
%�� ���&����� &���

yc(t) =
d

dt
xc(t) 4��9C5

��� ��&����� ��
�&
�
��

Hc(jω) = jω. 4��9�5

3�� �!������
� ������ ����	&���
�� 
�� 4��6�5 ������
��

Heff(jω) =

⎧⎨
⎩ jω �� |ω| < π

T

0 �� |ω| ≥ π
T �

4��965
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�	� ��B

�� ��
��
��
� ���
�	� ������
�� 
�&��� %
�� ��&����� ��
�&
�
��

H(ejΩ) =
jΩ

T
, |Ω| < π. 4��995
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��� 	� ������� 6 π� 1 ���� 
�� ��&������

��
�&
�
�� �����8

∠H(ejΩ) =

⎧⎨
⎩

π
2 �� 0 < Ω < π

−π2 �� −π < Ω < 0�
4��9>5

�� 	%
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�� ��&������ ��
�&
�
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�� ��
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�� ���
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�
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�� �
� �
�	� ���� 1 �����
��� 
�� ��&����� 
�� ��������
� ������
�� 
�&��� �����8

h[n] =
πn cos πn− sin πn

π n2 T
=

⎧⎨
⎩ 0 �� n = 0

cos πn
nT �� n 	= 0�

4��9?5
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